

Παραχρηματική ολοκλήρωση:

$$\int_a^b f'(x) \cdot g(x) dx = \left[f(x) \cdot g(x) \right]_a^b -$$

Ανάλυση.

$$(f(x) \cdot g(x))' = f'(x) \cdot g(x) + f(x) \cdot g'(x) \Rightarrow$$

$$\int_a^b f'(x) \cdot g(x) dx = \int_a^b (f(x) \cdot g(x))' dx - \int_a^b f(x) \cdot g'(x) dx \Rightarrow$$

$$\int_a^b f'(x) \cdot g(x) dx = \left[f(x) \cdot g(x) \right]_a^b - \int_a^b f(x) \cdot g'(x) dx.$$

$$- \int_a^b f(x) \cdot g'(x) dx$$

Υπολογισμοί ολοκληρωμάτων

1^η κανόνας $\int_a^b P(x) \cdot e^x dx$, $P(x)$ πολυώνυμο

$$1) \int_0^1 x \cdot \underline{e^x} dx = \int_0^1 x \cdot (e^x)' dx = \left[x \cdot e^x \right]_0^1 - \int_0^1 x' \cdot e^x dx =$$

$$\int_a^b \underbrace{f'(x)} \cdot \underbrace{g(x)} dx = \left[f(x) \cdot g(x) \right]_a^b - \int_a^b f(x) \cdot g'(x) dx \quad \left| \begin{array}{l} 1 \cdot e' - 0 \cdot e'' - \int_0^1 e^x dx = \\ e - \left[e^x \right]_0^1 = e - (e' - e'') \\ = e - e + 1 = 1. \end{array} \right.$$

$$2) \int_0^1 (x^2 - 3x) \cdot \underline{e^{2x}} dx = \int_0^1 (x^2 - 3x) \left(\frac{1}{2} e^{2x} \right)' dx =$$

$$= \underbrace{\left[\frac{1}{2} \cdot e^{2x} \cdot (x^2 - 3x) \right]_0^1}_{A} - \frac{1}{2} \int_0^1 \underbrace{(2x - 3)} \cdot \underbrace{e^{2x}} dx = A - \frac{1}{2} \underbrace{\int_0^1 (2x - 3) \cdot \left(\frac{1}{2} e^{2x} \right)' dx}_{I_2}$$

$$I_2 = \int_0^1 (2x-3) \left(\frac{1}{2} e^{2x} \right)' dx = \underbrace{\left[(2x-3) \cdot \frac{1}{2} e^{2x} \right]_0^1}_B - \int_0^1 \cancel{2} \cdot \frac{1}{2} e^{2x} dx =$$

$$= B - \left[\frac{1}{2} e^{2x} \right]_0^1 = \dots$$

2nd kompozicija: $\int_a^b P(x) \cdot m f(x) dx$ in $u(x)$.

$$\int_0^{n/2} x^2 \cdot m f(2x) dx = - \int_0^{n/2} x^2 \cdot \left(\frac{1}{2} \cos 2x \right)' dx = - \left\{ \underbrace{\left[x^2 \cdot \frac{1}{2} \cos 2x \right]_0^{n/2}}_A - \underbrace{\int_0^{n/2} \cancel{2x} \cdot \frac{1}{2} \cos 2x dx}_{I_2} \right\}$$

$$I_2 = \int_0^{n/2} x \cdot \left(\frac{1}{2} \cos 2x \right)' dx = \left[x \cdot \frac{1}{2} \cos 2x \right]_0^{n/2} - \int_0^{n/2} \frac{1}{2} \cos 2x dx = \dots$$

$$= \frac{1}{2} \cdot \frac{1}{2} \left[\sin 2x \right]_0^{n/2}$$

3m kamypid: $\int_1^b P(x) \cdot \ln x dx \rightsquigarrow$ "προετοιμάσω" το $P(x)$

$$\int_1^e (x^2 + 3x) \cdot \ln x dx = \int_1^e \left(\frac{x^3}{3} + \frac{3x^2}{2} \right)' \ln x dx =$$

$$= \underbrace{\left[\left(\frac{x^3}{3} + \frac{3x^2}{2} \right) \ln x \right]_1^e}_A - \underbrace{\int_1^e \left(\frac{x^3}{3} + \frac{3x^2}{2} \right) \cdot \frac{1}{x} dx}_{I_2}$$

$$I_2 = \int_1^e \left(\frac{x^2}{3} + \frac{3x}{2} \right) dx = \left[\frac{1}{3} \cdot \frac{1}{3} x^3 + \frac{3}{2} \cdot \frac{1}{2} x^2 \right]_1^e = \dots$$

